Pre-Calculus Objective 1.03 Vectors

1. A pilot flies a plane due west for 150 miles, then turns 42° north of west for 70 miles.
Find the plane’s resultant distance and direction from the starting point.

2. A ferry shuttles people from one side of a river to the other. The speed of the ferry in still
water is 25 mi/h. The river flows directly north at 9 mi/h. If the ferry heads directly west,
what are the ferry's resultant speed and direction?

Resulting speed =

Describe the direction (include angle and compass direction(bearing)):

3. To find the distance between two points A and B on opposite sides of a lake, a surveyor
chooses a point C which is 720 feet from A and 190 feet from B. If the angle at C

measures 68°, find the distance from A to B.

4, Without the wind, a plane would fly due east at a rate of 150 mph. The wind is blowing
southeast at a rate of 50 mph. The wind is blowing at a45° angle from due east. How far
off of the due east path does the wind blow the plane?
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1. A pilot flies a plane due west for 150 miles, then turns 42° north of west for 70 miles.
Find the plaﬁe’s resultant distance and direction from the starting point.
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water is 25 mi/h. The river flows directly north at 9 mi/h. If the ferry heads directly west,
‘ what are the ferry's resultant speed and direction?
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Describe the direction (include angle and compass direction(bearing)):
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3. To find the distance between two points A and B on opposite sides of a lake, a surveyor
chooses a point C which is 720 feet from A and 190 feet from B. If the angle at C

measures 68°, find the distance from A to B.
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4. Without the wind, a plane would fly due east at a rate of 150 mph. The wind is blowing
southeast at a rate of 50 mph. The wind is blowing at a 45° angle from due east. How far

off of the due east path does the wind blow the plane?
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